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N.B. .— (1) Attempt all questions.

(11)  All questions carry equal marks.
(iri) Wrong answers of MCQs will carry negative marks.
() @ U gEan
() | TAA FAE O SR
(7)) SEUART YT GHRAl ST RUMCHS T[0T 3.
MCQ 10
1. Attempt the following multiple choice questions :
Tl Sgaardt ged dredl

1) Which of the following is not the problem of rail transport ?
(A)  Lack of modern technology
(B)  Fuel problem
(C)  Passengers without ticket

(D) ~ Abundance of wagons.

TTCIEUsh! IV ed aeqemi=l Toel A& ?
(A)  oNYgfTw TIRAETET 19

(B)  s& HHE

(C) fom1 feepte vam

(D) A e
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(2) Nagpur agreement was made in ................... year.
(A) 1948 (B) 1953
(C) 1956 (D) 1960
TG R e TSt FIAE ST,
(A) 1948 (B) 1953
(C) 1956 (D) 1960

3) Which type of guage has the widest guage of rail transport ?

(A) Narrow guage (B)  Meter guage
(C) Broad guage (D) All of these
1T AEqEHE Hald %G ied ANTEl YRR wHIor 2
(A) T (B) HiX W

(C) dfe T (D) =Tt e

4) Land reforms is a part of .................. ?
(A) Agricultural price policy
(B)  Agricultural policy
(C)  Agricultural cost policy
(D)  Agricultural marketing policy

Qf:ﬁ 'ﬁw @' ................... O 3“%_
(A)  FH HeI EROT
(B) T HRom

(D)  FE fouUE gRomE

(5) Population living per square km. is called as ..................... .
(A)  Density of population (B) Sex Ratio
(C)  Death Ratio (D)  Proportion of population
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I '°|\|{{“| i\qw-ﬂ. E‘;I>||c1 T@Uﬂﬂ‘ W—I ‘I%'U]ﬁ .................. _@?3[
(A)  CEREEIE wO B) f&m
© TR D) cwEE FH

(6) Which of the following sentences is wrong about urbanization ?
(A) Increased brotherhood (B) Increased pollution

(C) Increased slum area (D)  Increased prices

EeTerdeh! AR IOTETE hIod fae™ 9% TR ?
(A) dY¥EE 9@ (B)  UgHUA 9@
(C) wHeuea d@ (D)  arecn e

(7) Which one of the following is the target of Maharashtra State Industrial
Policy 2013 ?

(A) Creation of 29 lakhs new employment
(B)  Creation of 15 lakhs new employment
(C)  Creation of 20 lakhs new employment

(D)  Creation of 5 lakhs new employment

WeATAdeh! iU HeRSE 5T SEleh &R0 2013 & & 8 ?
(A) 29 @@ & TSR 0w
(B) 15 @@ T ISFR A0 6w
(C) 20 @@ T ISR FEfor Ko
D) 5 @ T JSTR FEor o
8) Find out the odd word :

(A)  Pigeonpea (B) Gram
(C)  Greengram (D)  Cotton

P.T.O.
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foma v e
(A) T (B) 7
(C) (D)  wgH
9 As per the census of 2011, literacy rate is minimum in ......................
district.
(A) Nandurbar (B) ~ Osmanabad
(C)  Gadchiroli (D)  Jalna
2011 =11 SUFUNTER Wold hHl TERA X SO et 2
..
(A) TR (B) MR
(C)  Tefaet (D) e
(10) Second Road Development Plan was for the ..................... period.
(A) 1951-1971 (B)  1981-2001
(C)  1961-1981 (D)  1971-1991
A0 TR A A FrAEHEET B,
(A) 1951-1971 (B)  1981-2001
(C)  1961-1981 (D) ~ 1971-1991
Theory
Explain the trends in birth and death rates in Maharashtra. 10

eI STeY 301 GIerdiel Hewil .

Or
(feram)

What is productivity of agriculture ? State the causes of low productivity in
Maharashtra.

~ o) oY oY N
ﬁ?ﬁ 3ATGehdl WOSI i 7 Helklbldl 91 Scdlgendl enHl HAKQULIE] RV S

< .
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@

Discuss the land reforms programme in Maharashtra. 10

HRRTSSIAIel STHI {ERON hrelshATel ==l .
Or
(feram)
Explain the structure and growth of industries in Maharashtra.
TR SENT= AT STl g&! ¥ &l
4, Write short notes on (any two) : 10
(1) Foreign Direct Investment
(11) Water Transport
(zz)  Growth of Population in Maharashtra
(1v) Irrigation in Maharashtra.
dred SaR fogl (vt aF)
() A ool T[aave
() STA-ATEIH
(i)~ TERIRA dhdEdd a1

(fv) TR STeTfge.
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